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public static int binarySearch(int key, int[] data) {

int left = @; // IRSRHIHO /o
int right = data.length - 1; // PRIZR&FHDATH

while (left <= right) {

int mid

if (key == data[mid]) {

} else if (key < data[mid]) {

} else {

}
}
return -1; // BERTERho-8451%-1 2T
}
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public static int binarySearchR(int key, int[] data, int first, int last) {
if ( ) o

return -1;

}
int mid =

if (key == data[mid]) {

return
}
if (key < data[mid])

return binarySearchR(key, data, first, );
/* else */

return binarySearchR(key, data, , last);
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public static int binarySearch(String key, String[] data) {

int left = 0;
int right = data.length - 1;

while (left <= right) {

int mid =
int comp = key.compareTo( );
if (comp == ) {

} else if (comp < ) A

} else {
}

}

return -1;

}
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mid - left : right - left = key - data[left] : data[right] - data[left]

mid — left key - data[left]
right - left  data[right] - data[left]

B key - data[left]
" data[right] - data[left]

mid (right — left) + left
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public static int interpolationSearch(int key, int[] data) {

int left = @; // BRSRHIH D od
int right = data.length - 1; // RZE&PHOL G

while (left <= right) {
int ldata data[left];
int rdata data[right];

// mid OFEXNTHRR 02 BRNEHICT 5 (EEMXR)
if (ldata == rdata) {

if (key == ldata) return left;

/* else */ break;

}

int mid =

if (key == data[mid]) {
return mid;

} else if (key < data[mid]) {
right = mid - 1;

} else {
left = mid + 1;

}

}

return -1;



